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1.Problem statements
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2.Data Collection
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Principle
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3.Design Variable

d : diameter of pipe

t . thickness of pipe

4.0bjective Function
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5.Constraints

1 - p(dz-: <) — 0y <0
g,:—d+20t<0
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Pattern Search

Current best point
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Genetic algorithm
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fmincon
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6.Comments

o DUSEg 2= S4 ZF 2] x4, 5 Ml
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Lo
A = SHI|ZH | 5H | 2H | 5=H | &H | 5=H | &2H | &= ZHl | =™
mm | ka s ] kg M [T kg TN men kg i kg N
= 1.8 10.5 = = = = = = 1.7 |0.369 2.2 (10.450) 2.4
& 1754 13.3 = = = = = = 2.2 |0.629 2.4 o675 3.0
10 378 17.3 = = = = = = 2.3 |0.851 2.8 1.00 3.2
15 152 21.°7 = = = = = = 2.8 1.31 3.2 1.46 3.7
20 374 27.2 = = = = = = 2.9 1.74 3.4 2.00 3.9
25 1 34.0 = = = = = = 3.4 257 3.9 2.89 4.5
32 1 3 A2°7F - — - o - - 3.6 3.47 4.5 4,24 4.9
A0 1 2 48. 5 - — - o - - 3.7 A4.10 4.5 4.89 5.1
50 2 G0.5% - - 3.2 4. 52 - - 3.9 5.44 4.9 6. 72 5.5
B5 P 6.3 - — 4.5 .97 - - 5. 2 912 6.0 10,4 7.0
80 3 a9. 1 - - 4.5 9.39 - - 5.5 11.3 = = 13.4 7.B
SIS
a0 O & 101.6 - — 4.5 10.8 - - 5.7 135 7.0 16.3 3.1
100 4 114.3 - — 4.9 13.2 - - 6.0 16.0 7.1 18.8 a.6
125 5 139.8 - — 5.1 16.9 - - 6. & 21.7 a1 6.3 9.5
150 [ = 165.2 - — 5.5 21.7 - - 7.1 277 9.3 95.8 | 11.0
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